



On TNC-Rings

Zubayda M. Ibraheem¹, Fedaa A. Nayyef^{2*}

^{1,2} Department of Mathematics, College of Computer Science and Mathematics, University of Mosul, Mosul, Iraq

*Corresponding author: fedaa.20csp102@student.uomosul.edu.iq

Received: February 26, 2023

Accepted: March 20, 2023

Published: May 06, 2023

Abstract:

This paper is a continuation of study rings relative to clean ring, where we study the concepts of 2-nil clean rings TN-Clear Ring (TNC-ring) of a noncommutative ring, which introduced by Chen and Sheibani. These rings of ours naturally generalize the nil-clean rings. we show that, if $a \in C$ is TNC - element, then $a(a - 1)(a - 2)$ is nilpotent and $a = k + b$, where $k \in C$ and $b \in N(C)$, such that; $k(k - 1)(k - 2) = 0$, when every two pair of idempotent elements are orthogonal, and we determine condition under which the TNC-ring is strongly π -Regular and we show that, if C is commutative local ring and L is maximal ideal. Then C is TNC-ring if $C/L \cong Z_3$.

Keywords: Clean Ring, Local Ring, Nil-Clean Ring, TNC-Ring.

Cite this article as: Z. M. Ibraheem, F. A. Nayyef, "On TNC-Rings," *African Journal of Advanced Pure and Applied Sciences (AJAPAS)*, vo2. 1, no. 2, pp. 126–130, April-June 2023.

Publisher's Note: African Academy of Advanced Studies – AAAS stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2023 by the authors. Licensee African Journal of Advanced Pure and Applied Sciences (AJAPAS), Libya. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

Introduction

When two idempotents and a nilpotent element are added together, Chen and Sheibani describe an element of a ring C as a 2-nil-clean element (TN Clean -element) [1]. A TNC -ring is defined to be one in which every element is TNC, Z_{16} (ring of integers modulo 16) is TNC-ring. The purpose of this paper is to study a new kind of rings which generalize of nil-clean which introduce by many mathematicians [2,3,4,6], Some mathematicians are interested in the topics of clean ring [6,7,8], A ring is considered to be strongly π -regular if for every element $a \in C$ there exists $m \geq 1$ and $y \in C$ such that $a^m = a^{m+1}y$ [9].

In this paper, we begin by establishing, the basic properties of TNC- ring, Finally, we find the relationship between TNC- ring and clean - ring, strongly π - regular ring and local ring. The notational conventions are that all rings will be associative with identity.

The Jacobson radical, the set of all nilpotent element in C , the set of all unites elements and the set of all idempotent elements in C are denoted by $J(C)$, $N(C)$, $U(C)$ and $Id(C)$.

The following definition was defined in [6,7,8]

Definition 1:

A ring C is called clean if, for each a in R , there exists $u \in U(C)$ and $e \in Id(C)$ such that, $a = u + e$, furthermore, if $eu = ue$ the clean ring C is said to be strongly clean.

On the other side in [2,3,4,5] were introduced the following concept:

Definition 2:

A ring C is called nil - clean if, for every a in R , there are $b \in N(C)$ and $e \in Id(C)$, with $a = e + b$. If $eb = be$ is satisfied, then we say that C is strongly nil - clean ring.

Chen and Shebani in [1] give the definition of strongly 2-nil clean rings (STNC - rings)

Definition 3:

A ring C is said to be strongly 2-nil clean (STNC -ring), If for every a in C , there are $b \in N(C)$ and $e_1, e_2 \in Id(C)$, with $a = e_1 + e_2 + b$, that commutes with others.

For example, the ring of integers modulo 16, (Z_{16}) is STNC-ring.

Definition 4:

A ring C is called abelian if every idempotent element in ring C is central [10].

Material and methods

The object of this section is to investigate certain basic properties of TNC- rings

Proposition 1:

Let D be a nil ideal of a ring C . Then C is TNC - ring if and only if, C/D is TNC - ring.

Proof: suppose that C/D is TNC-ring and let $a \in C$. Then, $a + D \in C/D$, then there exists $e_1, e_2 \in Id(C)$ and $b \in N(C)$ such that $a + D = (e_1 + D) + (e_2 + D) + (b + D)$. It follows $a + D = (e_1 + e_2 + b) + D$, This implies $a - (e_1 + e_2 + b) \in D$. Since D is a nil ideal of C , therefore idempotents lift modulo D by [2, Proposition 3.15]. Also, $b \in N(C)$, It follows that $a - (e_1 + e_2)$ is nilpotent modulo D is nil and D is nil, then $a - (e_1 + e_2 + b) = b_1$ where b_1 is nilpotent. Then we get $a = e_1 + e_2 + b + b_1$. Hence $a = e_1 + e_2 + b_2$. Therefore C is TNC-ring.

Converse is clear from TNC-rings are closed under homomorphic images.

Proposition 2:

Let C be a ring with every pair of idempotents are orthogonal Then an element x in C is TNC-element if and only if, $(1 - x)$ is TNC element.

Proof: Assume that x is 2- TNC-element, then $x = e_1 + e_2 + b$, where $e_1, e_2 \in Id(C)$ and $b \in N(C)$, Then $1 - x = 1 - (e_1 + e_2) + (-b)$, since e_1, e_2 are orthogonal. Then $(e_1 + e_2)^2 = e_1 + e_2$.

Thus $(1 - (e_1 + e_2))$ is idempotent and $b \in N(C)$, that is $b^n = 0, n \in \mathbb{Z}^+$, then $(-b)^n = 0$, when n is even positive integer. Therefore $(1 - x)$ is 2-TNC-element.

Conversely: Suppose that $(1 - x)$ is 2-nil clean element, Then $1 - x = e_1 + e_2 + b$ where $e_1, e_2 \in Id(C)$ and $b \in N(C)$

Hence, $-x = (e_1 + e_2) - 1 + b$. Thus, $x = 1 - (e_1 + e_2) - b$. Then $x = (1 - (e_1 + e_2)) + (-b)$.

Now, Since $(e_1 + e_2) \in Id(C)$, then $(1 - (e_1 + e_2)) \in Id(C)$ and $(-b) \in N(C)$.

Therefore x is 2-nil clean.

Proposition 3:

Let C be an abelian ring, with every two pair of idempotents are orthogonal. Then any element x in C is TNC - element, if and only if x^n is TNC - element, for some positive integer n .

Proof: we prove by mathematical induction

Let x be 2-nil clean, that is $x = e_1 + e_2 + b$, where $e_1, e_2 \in Id(C)$ and $b \in N(C)$, and $x^2 = (e_1 + e_2 + b)^2 = (e_1 + e_2)^2 + 2b(e_1 + e_2) + b^2 = e_1 + e_2 + b'$, $e_1 + e_2 \in Id(C)$ and $b' = 2b(e_1 + e_2) + b^2 \in N(C)$

Now, assume that for $n = m - 1$, the assumption is true, that; $x^{m-1} = (e_1 + e_2 + b)^{m-1} = \sum_{k=0}^{m-1} \binom{m-1}{k} (e_1 + e_2)^k b^{m-k} = (e_1 + e_2)^{m-1} + \frac{(m-1)}{1!} (e_1 + e_2)^{m-2} + \frac{(m-1)(m-2)}{2!} (e_1 + e_2)^{m-3} b + \frac{(m-1)(m-2)(m-3)}{3!} (e_1 + e_2)^{m-4} b^2 + \dots + b^{m-1}$

We must prove the assumption is true when $n = m$,

$$x^m = x x^{m-1} = (e_1 + e_2 + b) \left[(e_1 + e_2)^{m-1} + \frac{(m-1)}{1!} (e_1 + e_2)^{m-2} b + \frac{(m-1)(m-2)}{2!} (e_1 + e_2)^{m-3} b^2 + \frac{(m-1)(m-2)(m-3)}{3!} (e_1 + e_2)^{m-4} b^3 + \dots + b^{m-1} \right]$$

$$= (e_1 + e_2)^m + b \left[(e_1 + e_2)^{m-1} + \frac{m(m-1)}{2!} (e_1 + e_2)^{m-2} b + \frac{m(m-1)(m-2)}{3!} (e_1 + e_2)^{m-3} b^2 + \dots + b^m \right]$$

Suppose that, $L = b \left[(e_1 + e_2)^{m-1} + \frac{m(m-1)}{2!} (e_1 + e_2)^{m-2} b + \frac{m(m-1)(m-2)}{3!} (e_1 + e_2)^{m-3} b^2 + \dots + b^m \right]$,

$$\text{Hence } L \in N(C) = \sum_{k=0}^m \binom{m}{k} e_1^k e_2^{m-k} + L = [e_1^m + m e_1^{m-1} e_2 + \frac{m(m-1)}{2!} e_1^{m-2} e_2^2 + \frac{m(m-1)(m-2)}{3!} e_1^{m-3} e_2^3 + \dots + e_2^m] + L = e_1^m + e_2^m + L$$

Thus, $x^m = e_1^m + e_2^m + L$, Therefore x^m is 2-nil clean

Conversely, suppose that x^n be TNC-element, that is $x^n = e_1 + e_2 + b, e_1 + e_2 \in Id(C), b \in N(C)$

$$x^n - (e_1 + e_2) = b$$

$$x^n - (e_1 + e_2) = (x - (e_1 + e_2))[(e_1 + e_2) + (e_1 + e_2)x + (e_1 + e_2)x^2 + \dots + x^{n-1}]$$

Since $x^n - (e_1 + e_2)$ is nilpotent. Then $(x - (e_1 + e_2))[(e_1 + e_2) + (e_1 + e_2)x + (e_1 + e_2)x^2 + \dots + x^{n-1}] \in N(C)$, Hence $x - (e_1 + e_2) \in N(C)$, it follows to

$$x - (e_1 + e_2) = b_1 \text{ So, } x = (e_1 + e_2) + b_1 \text{ and therefore } x \text{ is TNC-element}$$

Proposition 4:

Let C be a belianring with $2 \in N(C)$ and let a be TNC - element in C . Then $a^2 - a$ is nilpotent element.

Proof: Let $a \in C$ be 2-nil clean element, that there exists, $e_1, e_2 \in Id(C), b \in N(C)$, Such that $a = e_1 + e_2 + b$

$$a^2 = (e_1 + e_2 + b)^2 = (e_1 + e_2)^2 + 2b(e_1 + e_2) + b^2 = e_1^2 + 2e_1e_2 + e_2^2 + 2b(e_1 + e_2) + b^2 = e_1 + e_2 + 2e_1e_2 + 2b(e_1 + e_2) + b^2 \in Id(C), 2e_1e_2 + 2b(e_1 + e_2) + b^2 \in N(C)$$

$$a^2 - a = (e_1 + e_2) + 2e_1e_2 + 2b(e_1 + e_2) + b^2 - ((e_1 + e_2) + b) = (e_1 + e_2) + 2e_1e_2 + 2b(e_1 + e_2) + b^2 - ((e_1 + e_2) - b). \text{ This implies that } 2e_1e_2 + 2b(e_1 + e_2) + b^2 - b \in N(C).$$

Therefore, $(a^2 - a)$ is nilpotent.

Proposition 5:

Let C be TNC - ring, with every pair of two idempotent elements are orthogonal, then $J(C)$ is nil ideal and $2 \in J(C)$.

Proof: Let $x \in J(C)$, then $x \in C$, by proposition(4), $(x^2 - x) \in N(C)$ and hence $(x - x^2) \in N(C)$.

Assume that; $w = (x - x^2) \in N(C)$, implies that $w = x(1 - x)$ and $x = w(1 - x)^{-1} \in N(C)$, Thus $J(C)$ is nil ideal. Now, let $a \in C$. Then, there exists $e_1, e_2 \in Id(C)$ and $b \in N(C)$, such that: $a = e_1 + e_2 + b$ Assume that $2 = e_1 + e_2 + b$, since e_1, e_2 are orthogonal, then $e_1 + e_2 = e_3 \in Id(C)$, That is $2 = e_3 + b$, it follows that $1 + 1 = e_3 + b$, hence $1 - e_3 = b - 1$. Since $(b - 1) \in U(C)$, let $1 - e_3 = u$, then $1 - e_3 = 1$, hence $e_3 = 0$. Thus, $2 = 0 + b$ and 2 is nilpotent. Therefore $2 \in J(C)$

Proposition 6:

Let C be a belian ring with every pair of idempotent elements are orthogonal and l, k are TNC-elements in C . Then $l + k$ is TNC -element.

Proof: Let l and k are TNC- elements. Then there exists $e_1, e_2, e_3, e_4 \in Id(C), b_1, b_2 \in N(C)$ such that:

$$l = e_1 + e_2 + b_1 \text{ and } k = e_3 + e_4 + b_2 \text{ then, } l + k = (e_1 + e_2 + b_1) + (e_3 + e_4 + b_2) = (e_1 + e_2) + (e_3 + e_4) + (b_1 + b_2). \text{ Since every pair of idempotent elements are orthogonal, then:}$$

$$(e_1 + e_2)^2 = (e_1 + e_2) = e_5 \in Id(C) \text{ and } (e_3 + e_4)^2 = (e_3 + e_4) = e_6 \in Id(C), \text{ also we have } b_1 + b_2 = b_3 \in N(C)$$

$$\text{Hence, } l + k = e_5 + e_6 + b_3.$$

Therefore, $l + k$ is TNC-element.

Proposition 7:

Let C be an abelian ring, and $a \in C$ be TNC- element. Then $a(a - 1)(a - 2)$ is nilpotent element.

Proof: Let $a \in C$, since a is TNC-element, then there exists $e_1, e_2 \in Id(C), b \in N(C)$ such that $a = e_1 + e_2 + b$

Next, we get that.

$$\begin{aligned}
 a(a-1)(a-2) &= (e_1 + e_2 + b)(e_1 + e_2 + b - 1)(e_1 + e_2 + b - 2) = [e_1(e_1 + e_2 + b - 1) + e_2(e_1 + e_2 + b - 1) + b(e_1 + e_2 + b - 1)](e_1 + e_2 + b - 2) \\
 &= [e_1^2 + e_1e_2 + e_1b - e_1 + e_2e_1 + e_2^2 + e_2b - e_2 + be_1 + be_2 + b^2 - b](e_1 + e_2 + b - 2) \\
 &= [e_1 + 2e_1b - e_1 + e_2 + 2e_2b - e_2 + b^2 - b](e_1 + e_2 + b - 2) \\
 &= (2e_1b + 2e_2b + b^2 - b)(e_1 + e_2 + b - 2) = 2e_1^2b + 2e_1e_2b + 2e_1b^2 - 4e_1b + 2e_1e_2b + 2e_2^2b + 2e_2b^2 - 4e_2b + e_1b^2 + e_2b^2 + b^3 - 2b^2 - e_1b - e_2b - b^2 + 2b \\
 &= b^3 + 3e_1b^2 + 3e_2b^2 - 3b^2 - 3e_1b - 3e_2b + 2b = b(b^2 - 3b + 2) + 3e_1b(b - 1) + 3e_2b(b - 1) = b(b - 2)(b - 1) + b(b - 1)(3e_1 + 3e_2) = b(b - 1)[(b - 2)(3e_1 + 3e_2)] \in N(C)
 \end{aligned}$$

Proposition 8:

Let C be an abelian ring with every two pair of idempotent elements are orthogonal, and $a \in C$ is TNC - element. Then $a = k + b$, where $k \in C$ and $b \in N(C)$, such that $k(k - 1)(k - 2) = 0$.

Proof: Let $a = e_1 + e_2 + b$, where $e_1, e_2 \in Id(C)$, $b \in N(C)$

Now, take; $k = e_1 + e_2$, then we have:

$$\begin{aligned}
 k(k-1)(k-2) &= (e_1 + e_2)[(e_1 - 1) + e_2][(e_1 - 2) + e_2] = (e_1 + e_2)(e_1 - 1 + e_2)(e_1 - 2 + e_2) = \\
 &= (e_1 + e_2)(e_1^2 - 2e_1 + e_1e_2 - e_1 + 2 - e_2 + e_2e_1 - 2e_2 + e_2^2) \\
 &= (e_1 + e_2)(-2e_1 + 2 - 2e_2) = -2e_1^2 + 2e_1 - 2e_1e_2 - 2e_2e_1 + 2e_2 - 2e_2^2 = 0
 \end{aligned}$$

Therefore $k(k - 1)(k - 2) = 0$

THE RELEVANCE BETWEEN TNC -RING AND OTHER RINGS

In this section we construct the relation between TNC - ring and clean ring, local ring and strongly π -regular ring.

Proposition 9:

Let C be an abelian TNC - ring with $2 \in N(C)$. Then C is clean.

Proof: suppose that C is TNC -ring and $a \in C$, then there exists $e_1, e_2 \in Id(C)$ and $b \in N(C)$, such that: $a - 1 = e_1 + e_2 + b$. Since, $(e_1 + e_2)^2 = e_1 + e_2 + 2e_1e_2$, Hence, $a - 1 = e_1 + e_2 + 2e_1e_2 + b, 2e_1e_2 + b \in N(C)$

since $(1 + 2e_1e_2 + b) \in U(C)$. Then $a = (e_1 + e_2) + (1 + 2e_1e_2 + b)$ is clean element.

Proposition 10:

Let C be a commutative local ring and L be a maximal ideal. Then C is TNC - ring, if $C/L \cong Z_3$.

Proof: Since C is local ring, then $J(C) = M$ and every element in $J(C)$ is nilpotent.

Then every element in M is nilpotent, If $a \in C$, then $a + M = x + M$ for some $x \in \{0,1,2\}$.

So, $a = 1 + 1 + b$, where b is nilpotent, thus a is TNC-element and therefore, C is TNC-ring.

Proposition 11:

Every STNC - ring is strongly π -regular.

Proof: Since C is STNC- ring, that is C is $(3 - 1)$ -nil clean ring. Now consider 3 is nilpotent element. Then $(3 - 1)!$ is invertible, let $a \in C$, Since $a(a - 1)(a - 2)$ is nilpotent from proposition (7). since $(1 + 2e_1e_2 + b) \in U(C)$. Then $a = (e_1 + e_2) + (1 + 2e_1e_2 + b)$ is clean element.

Proposition 10:

Let C be a commutative local ring and L be a maximal ideal. Then C is TNC - ring, if $C/L \cong Z_3$.

Proof: Since C is local ring, then $J(C) = M$ and every element in $J(C)$ is nilpotent.

Then every element in M is nilpotent, If $a \in C$, then $a + M = x + M$ for some $x \in \{0,1,2\}$.

So, $a = 1 + 1 + b$, where b is nilpotent, thus a is TNC-element and therefore, C is TNC-ring.

Proposition 11:

Every STNC - ring is strongly π -regular.

Proof: Since C is STNC- ring, that is C is $(3 - 1)$ -nil clean ring. Now consider 3 is nilpotent element. Then $(3 - 1)!$ Is invertible, let $a \in C$, Since $a(a - 1)(a - 2)$ is nilpotent from proposition (7). at $2(e_1 + e_2) - 1 + b$ is nilpotent and $a = e_1 + e_2 + b$. So, we get $a = (1 - (e_1 + e_2)) + (2(e_1 + e_2) - 1 + b)$ is STNC-element.

Proposition 13:

Every TNC-ring is nil-clean ring, if every pair of two idempotent elements are orthogonal.

Proof: let C be TNC-ring and let $a \in C$ with $e_1, e_2 \in Id(C)$ and $b \in N(C)$ such that $a = e_1 + e_2 + b$. Since e_1, e_2 are orthogonal, then $(e_1 + e_2) = e_3 \in Id(C)$, It follows that $a = e_3 + b$ is nil-clean element and therefore, C is nil-clean ring.

Conclusion

From the study characterization and properties of TNC-ring, we obtain the following results:

- when D be a nil ideal of a ring C . Then C is TNC - ring if and only if, C/D is TNC - ring.
- when C be a belian ring with $2 \in N(C)$ and let a be TNC- element in C . Then $a^2 - a$ is nilpotent element
- when C be TNC - ring, with every pair of two idempotent elements are orthogonal, then $J(C)$ is nil ideal and $2 \in J(C)$.
- when C be a belian ring with every pair of idempotent elements are orthogonal and l, k are TNC-elements in C . Then $l + k$ is TNC -element.
- when C be an abelian ring, and $a \in C$ be TNC-element. Then $a(a - 1)(a - 2)$ is nilpotent element.
- when C be an abelian TNC -ring with $2 \in N(C)$. Then C is clean.
- when C be a commutative local ring and L be a maximal ideal. Then C is TNC-ring, if $C/L \cong Z_3$.
- Every STNC - ring is strongly π -regular.

We recommend as further studies, to study 3-nil clean and the relation between 2-nil clean. To study p-nil clean ring and give further properties of such rings.

References

- [1] Chen, H., & Sheibani, M. Strongly 2-nil-clean rings. Journal of Algebra and its Applications, 16(09), 1750178, 2017.
- [2] Diesl, A. J. Nil clean rings. Journal of Algebra, 383, 197-211.
- [3] Breaz, S., Călugăreanu, G., Danchev, P., & Micu, T. (2013). Nil-clean matrix rings. Linear Algebra and its Applications, 439(10), 3115-3119, 2013.
- [4] Koşan, T., Wang, Z., & Zhou, Y. Nil-clean and strongly nil-clean rings. Journal of pure and applied algebra, 220(2), 633-646, 2016.
- [5] Koşan, M. T., & Zhou, Y. On weakly nil-clean rings. Frontiers of Mathematics in China, 11(4), 949-955, 2016.
- [6] Chen, W. Notes on Clean Rings and Clean Elements. Southeast Asian Bulletin of Mathematics, 2998(32), 00-6, 2008.
- [7] Nicholson, W. K., & Zhou, Y. Clean general rings. Journal of Algebra, 291(1), 297-311, 2005.
- [8] Weixing, C. (2006). P-clean rings. International Journal of Mathematics and Mathematical Sciences, 2006.
- [9] Azumaya, G. STRONGLY π -REGULAR RINGS. Journal of the Faculty of Science Hokkaido University. Ser. 1 Mathematics, 13(1), 034-039, 1954
- [10] Agayev, N., Harmanci, A., & HALICIOĞLU, S. On abelian rings. Turkish Journal of Mathematics, 34(4), 465-474, 2010.